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. The function: f: f(x) = x — 2cos x,
such that 0 < x < 2m 1s decreasing on
the interval .........
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Find the equations of the tangent Goseally el Aslae sl

and the normal to the curve: OL=o V=076~ oudl
_ 2 N _m R s IS
X = sec 0—1,y—tan9at6—z ¢
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n Find the area of the region bounded by O 8y gl Aidatddl do s s 5
the curve ¥ = x> and the straight line 0 = 0P )y T = 02 o))
y=x
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Ifx = t2+4t =2,y = 2¢> = 3 then Z at
X

t = 1equals
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The curve of the function f is convex

downwards in R if the function

fX)=iiinnninn
@ 3 —x? @ 3 —x3
© 3-—x* @ 3+x*
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Find the volume of the solid generated | 01052 (» (AW el o2 S|
by revolving the region bounded by the Ooall (g 8 gl At

two curves ¥ = 6 —x, ¥ = Vx and the sy o W =0 0 - 1= e

x — axis a complete revolution about the |2 Jom A 550 ol

X — axis. Sl
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Ify =3 sec’x then A WY\’%:U"‘)K‘*
dx
............. =25 O
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If f(x) = xInx, then at x = e~ ! the xLe BB u‘_;ﬁw’:(w” o8 13
functionhas ....... | ... Iy SG Ta=

@) alocal maximum value
(® alocal minimum value

(© an inflection point

(@ an absolute minimum extrema value
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Answer one of the following items :
(A) Find : [ xV2x + 1dx
(B) Find ; [ Inx dx
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Ify=

log |sinx| then ™ = ........ PS5 06 || = e 08 13
dx oS

cot x X log e P X el
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If f(x) = sin x, then _nfz fx)dx=....
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Answer one of the following items :

(A) If f(x) = x3 + ax? + bx + 4 such
that a and b are constant , the function f
has a local maximum value at x = 2 and
an inflection point at x = 1, then find the
values of a and b

(B) Find the absolute extrema values of
the function f: f(x) = sin x + cos x in
the interval [0 , 27 ]
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f%l0g3e dx = A

@ In|x|+c
(b) logs|x| +c
© Inx+c

@ loglx|+c
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f;Zx dx =5,thena=........... ...=pgpo:w5wv\v‘ o8 13
b
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Find the height of a right circular cvvwﬂw/\w&,sks L 515 &l shad
cylinder and the radius of its base if its | & gau¥ 3usl ¥ o J ol s
volume = 128 77 cm3, so that its surface | dlws 055 dus Dlsku) ¢l
area 1s as minimum as possible. oS le il ol
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